Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C315003 Date: 06 -06 -2015
Subject Name:Building Materials
Time: 02:30 PM TO 04:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. Question Text and Option. U# U ([Ascl.
The most valuable timber is
1. A. Chir B.  Shisham
C. Deodar D. Sal
Aol (A cuss.
LA e Bl
C RaerR D
The property of a material to absorb water vapour from air mean
2. A. Fireresistance B.  Hygroscopicity
C. Water permeability D.  Water absorption
HIA AUHI ol st Hidl aRin2lmet s2ncusl(l alsa
. A ydsR B.  slolzslQsRE)
C. el D yuelledmer
The ability of the material to resist failure under the action of stresses caused by loads
3 mean
" A.  Strength B.  Elasticity
C. Capacity D.  Durability
AHlell Aotl UR @ld] Usdl clotell [Aglad uva Rata el scllell il
3. A R B, RA(Qrauusdl
C. aual D. 256Uy
Which one is odd one?
4. A. Elasticity B.  Ductility
C. Strength D. Density
o(lAuiell 53 w0 B.
¥. A RAlArewusdl B. doldl
C. R Do et
5. The ability of a material to with stand prolonged action of high temperature without



10.

0.

melting or loosing shape is known as
A. Refractoriness B.  Hygroscopicity
C.  Specific heat D.  Frost resistance

Hid WHIAL ofl QAL dluHlal cioll AH Yol Glell AUAUBUSIR dHIcUL IR
Gell ¥clloll &Hdl

A GYML UG B. sleolsls@2

C.  Qssudle D. sz

Which one is the feature of fatigue

A.  When the material loss it’s B.  When decrease the plasticity of
strength, ductility material

C. Increase elasticity D. Increase strength

$3] AULSo] A&l &

A yAaHafl u Wdtedl B eidatmofloll vclRRREM uals
Alsle, ol AHIA RUIR Al IR

C. RAlRausdlauRa Do st aural

The combined action of abrasion and impact is known as

A. Wear B.  Creep

C. Fear D.  Brittle

YRlol AUUReAL AYSAUINATAZE A &

A yURL B. gy

C  ax D ors

The compressive strength of material saturated with water to that in dry state is known
as

A.  Coefficient of softening B.  Density index

C. Fire resistance D.  Frost resistance

Hioflell wiell ofl & AU uAAR ¥ YSl RAlAL elot enall
R

A yedlalojels B golcdlged s
C. uylday D dlu ylasi2
Which of the following indicates mechanical property of the material?
A. Elasticity B.  absorption

C. Porosity D.  Density

ol ActtHtell s Afloll AlPsoEIu] YA B.

A RA(ARaUUS AL B. sllwal

C. Bagd D yatcl

The bulk density of a granite is:

A.  25t027 kN/m’ B. 16to 18 kN/m’
C. 14to 17 kN/m’ D. 5to7kN/m’

Asotlefeoll Yn dotcll O:
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15.

.

16.

6.

17.

A.  25to 27 kN/m’ B. 16to 18 kN/m’

C. 14to 17 kN/m’ D. 5to7kN/m’
Tensile strength of wood parallel to grains is about.

A.  2times B. 3 times

C. 4 times D. 5times

ALSSlo] LRl AHEA dotl AL oll UHIdAR

A 2oy B. 30y

C. 4oy D. 5 a1

Which of the following is unstratified

A. Sand stone B.  Lime stone

C. Shale D. Granite

ol AHidl 53 GEIRERL cARElol WSS B

A RlAA ueR B Yot uaR

C. D Jouse

Stone is placed along its natural bed so that the applied load is

A. Parallel to it B. Normal to it

C. At45toit D. At30toit

UcdRal Y5l ara el Auwlollud s&5 3la ollsclal 1L ua 8
A qHlAR B. e dld

C. 4561 wQA D. 304 wa

Which of following stones has least % of water absorption by volume?
A. Trap B.  Slate

C.  Quartzite D. Lime stone

ol Al UM 520 U 5E glRAUOIURIANNGLY YA B?
A 2y B. Qe

C.  saknee D yotiuear
Trapisa

A. Argillaceous rock B.  Silicious Rock

C.  Cal carious rock D.  Stratified rock

U A

A dlaiel wssl B. Rl wssl

C. Yota ussl Dl mssl

Stone generally preferred for railway ballast is

A. Trap & basalt B. Marble

C.  Sand stone D. Slate

REAGIARRHL AUHLe A 52U ULUR ol Yltllol AUCHL A B
A 2UASAUER B uRuusaet

C. AoS Wlot D. QAR

For carving,ornamental work, the stone should be
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22.
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23.

3.

A. Hard B. Soft

C. Light D. Heavy

S1R0(l, YeolHA RUURYEAL M2, A ULAR clluile
A. @lg B. ms_e,

C. scsl Do

In stone masonry the direction of the pressure line is
A. Inclined to the natural bed at 30 B.  Inclined to the natural bed at 45
C. Parallel to the natural bed D.  Perpendicular to the natural bed

ULAURell ARLAR ol SLHHL EGlRUE 2l
A gerdlawdl A 300vQ B gecdlawdl wd 450008

C geadluuwdl ddiar D. geadlauidlal do
Which one of the following is not an endogeneoustree.

A. Palm tree B.  Coconut tree
C. Cane tree D. Teak tree

ol Aototl MLl 53 Wil s otell

Ay B.  aRan

C  awx D

Which stone has highest compressive strength.

A. Granite B.  Gneiss

C. Limestone D. Laterite.

sl ueRA Ul ayelos wHed U B.

A Jelltse B.  asu

C. Yol D Qzaee,
Laterite is a

A. Cal carious B.  Argillaceous
C. Volcanic D. Silicious
AzRSeAus

A YouHa wssl HiElaci wssl B adlatct wssl
C. @ wssl D. Rl wssl

A good soil for making bricks should contain

A.  30% alumina B.  10% lime

C. 12% Iron Oxide D. 50 % Alumina
g2lotollalall H>As ARrHlotoll uesl

A 305l B 10%3yall

C. 2z uaelllsuss D. 50%3c@stl
The weight of standard brick should be

A.  1000g B.  1500¢g

C. 2500g D. 3000g

YHQledESee] et
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A. 10009 B. 1500g

C. 25009 D. 30009

The purpose of seasoning is of wood is to

A. Reduce the void B.  Remove the curve

C. Reduce the moisture content D.  Change the direction of grains

Alssle] AIAS0L scll MR of 5120

Al orul el sl B, cous g s2al

C. Qo A6l scll D Rl ol (Rau secan

The importance of frog is:

A. Embossed the manufacturer’s B.  Reduced the weight of bricks
name

C. From key joint between bricks D.  For expansion joint
and mortar

0L of HeD

A GeUlese] olld GaRLY B. 82l dwelualscl

C. [ARcRORIYSAZS wal Do ogléeatl [Qrctir W2
SlA c olatllR0L AUl

Water absorption for 1* class bricks should not more than

A, 12% B. 15%

C. 20% D. 25%

yar cdlol sl wellalmel Aol scllay oelefn

A 12% B. 15%5

C. 20% D. 20%

For hidden masonry works the bricks used should be

A.  1%class B. I class

C. II"class D. For any of the above

UM URARHIZ sl UsR ol 821 cawtuil st

Ay el B, (glQa el

C. yQa gl D. " Guz ol slsuwl

Which of the following constituent in earth gives plasticity to mould bricks in suitable

shape

A. Silica B. Lime

C. Alumina D. Magnesia

olAetlsAdl s B2lal AUBMSIR WA LARRREA 8

A R@st B. g

C.  AyMet D. ol

The raw bricks shrink during drying and warp during burning because of:

A. Less lime in brick earth B.  Lesssilica and excess magnesia in
brick earth

C. Excess of alumina and silica in D.  Alkalis in brick earth
brick earth
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sl Baluscll wUa YsaplleRasis Ut WA

A L Yolled YHIRLAY 8l B i@l A0S RAs140
U sHoLAY AL of YHLBL

C il APaumaR@stay D adlue wuesdl aldll.

YHLRL
The moulded bricks are dried before burning to an approximate moisture content of
A, 3% B. 6%
C. 10% D. 20%
WBLAAL B2lal UsCcAl USEL Ao YHIRL WMI2AR
A 3% B. 6%
C. 10% D. 20%
The pug mill is used for
A.  Weathering B.  Tempering
C. Drying D. Burning
wlBaauRia 8
A Aelgilol B. yes:n
€ ysagll D. ysqa
The excess of silica in making of brick earth
A. Brittle on burning B.  To metl in burning
C. To crack on frying D. To warp
R@slef u@s yral Saoll Hdla
A oRs st usadl aua B.  usadl avd Roud
C. usadl awa [Qzus ud D dslust ana

Hollow bricks are used for

A.  Ornamental designs B.  Increasing the bearing area
C. Resistance against heat flow D.  Earthquake proof building
SlAlEsl Aotl HIE AU B

A sAleds [3Lget B.  aRardrruiau

C. orulyasa Asal D. gsuyslal@ol

A bull nose bricks is not used in

A.  Walls B.  Arches

C. Pillar D.  Round off the sharp corner
WA ollog B2loll GuAlL Ul otell

A A B. syl

C. et D dlaval sl

The crushing strength of Ist class brick is

A, 7N/mm’ B. 5.5N/mm’

C. 7.5N/mm’ D. 10.5 N/mm’

yuHdlell 2 ol slot adau &
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¥O0.

41.

¥.

A 7N /mm? B. 55N /mm?
C. 7.5N/mm? D. 10.5N /mm?

The advantage of kiln burning is

A. Volatile constituents are driven =~ B.  Reduce time for seasoning
off

C. Reduction for moisture level D. All of above
below that is possible in air
seasoning

MSlHL uscaalall $lAEL
Ao RARUSA A sl B usdalell aHaHiaLs)

C. sallloll AxRcR Uald D ooz ®

The dry bricks is usually expected to have moisture content of about

A, 2% B. 5%

C. 10% D. 20%

AL A Y5l B2l 1L Ao of YRl

A 2% B. 5%

C. 10% D. 20%

The sound ness test of cement can be tested by:

A. Vicat needle B.  Specific surface analysis
C.  Le Chatelier’s apparatus D. Sieve analysis
RAHR WYy Ulal Aot sislasl ol

A Vicatdlla B, cordlauwidlQanet
C. Le Chatelier’sapparatus D. HLM@@%@NQL

Initial setting time of quick setting cement is nearly

A. 5 minutes B. 10 minutes

C. 30 minutes D. 50 minutes

sclls AZ1ol AR YR(A 5y AUHAALEOL

A 5 @Al B. 10 Ae

C. 30Q@Re D. 50 @2

The type of cement generally used for construction of road pavements is
A. Rapid hardening cement B.  Low heat cement

C. Blast furnance cement D.  Ordinary Portland cement
UM FARASULE SIRAG S HERAURLA AAo2 ol YsIRD

A MWseldllol AR B AlseRAe

C sareageld @Ree D ducadiiassRnee
A high value of basic water content means

A. Normal fluidity B.  More fluidity

C. Less fluidity D.  Excess cement proportion

G2 oJeldll 2 Wil ol yHal ol
Al alld B, ayyaulddu
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C. Qelyculda D, QsquR@AynaL

Cement main ingredient is

A. Alumina B. Lime

C. Silica D. Magnesium oxide
RARYv uesd

A QAeJMoll B ausu

C. R@s D, RosiQanlsuss
Le Chatelier’s method can be used to determine

A. Fineness of aggregates B.  Soundness of cement

C. Compressive strength of cement D.  All of the above
LeChatelier’s Ugld 9| ots$l sall Hi2audl asta 8

A flale ofl Yeudl B. RNceell uycle
C. RA2- sdl@a Pou D. Gullsd

An ordinary Portland cement when tested for finesse of sieve No.9 will leave residue
to

A, 28% B.  Less than 20%

C. 15% D. Lessthan 10%

A5 AUHRAWAesRAA2e] Ulelal No.9 ol tngllell sl 3ectl wauesisl
%9

A 28% B. 20% Al s2dl

C. 15y D. 10%52 2l

A sample of cement is said to be sound when it does not contain free

A. Silica B. Lime

C. Iron oxide D. Alumina

RAc2ell WS oyollsallR ALH sdcllal AR AHL 9 Aol HAd otell
A R@st B.  augu

C. el AsALS D AeyMol

Low heat cement is used for

A.  Thin structures B.  Thick structures

C. Reinforcement free sturctures D. Underwater structures
AUl oRHIRAARHER cauRA B

A uLcouLo B ogsiiami

C. 8RS sl sAR D. el ofl ue€Rell HlOML
Which types of cement is used in chemical industry.

A. Acid resistance cement B.  Expanding cement

C.  Quick setting cement D.  Hydrophobic cement

AULRUASGENOHL sl UslRall RAee GUAL Al B,
A ARsylAsRRNe B, ([QxdlRRe2
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C. psUlyAx«@ee D.  seg8llds@Ace

Blast furnace slag cement is used in

A.  Chemical factory B.  Under water construction

C.  Mass concrete structure D.  Ordinary construction

sAAle $olRIRAIRAN AMAURIA B

A IRse¥sedlul B quellell wet 0t olitusit

C ysilseriny Do aideuioliusin

Vicat ‘s apparatus is used for

A. Consistency test B.  Fine ness test

C.  Soundness test D.  Tensile strength test
Vicat'alGUs0L 2l HI2 duRld 8

A Aldudlaw B.  g¢etaue

C. uoodgSollusiugll D dualejdistdzee

Which type of cement is excellent fire resistance

A.  High alumina Cement B.  Water proof cement

C. Blast furnance cement D.  Acid resistance cement
RAcesau UsRelRNoz Gt L YlAsD

A slseMai@Nee B dler ys R

C. selre soliR@A2 D aRsylds@Ae

The heating of limestone to redness in contact with air is known as

A. Hydration B. Calcinatiom

C. Burning D. Oxidation

gall AUAAUSHIALAAHIZ Yollotl URA AW A Ul Yllduwaael (s
a

A sledalel B allauet

C. aslor Do sll3atet

Lime is used in all of the following except

A.  In the manufacturing of glass B.  Asabase for cellulosed paints
C.  Asamatrix for concrete D.  For plastering wall, ceiling etc.
AU Aot dAHHEUALL &l B Rlau

A oA Geulgst B.  CellulosedU8ee 112 2tlRcA3\3
C. ARsuARLE sldext D. Plastering( ctct ©ct adR
In case of hydraulic lime the constituent mainly responsible for hydraulicity is
A. Silica B. Clay

C. Calcium oxide D. Carbon dioxide

slQAs Yol oll s 31¥ hydraulicityHl2 Juuues &

A R@sL B wd

C. AU sUES D. slolatsialsues
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For underwater construction which lime is used

A. Pure lime B.  Quick lime

C. Fatlime D. Hydraulic lime

BULR(lo(l ieRultUsIH HRYollaURU B

A 9gyall B. a3sUlyell

C. ¥ cusu D. sissl@scusy

The advantage of adding puzzolanas to lime is to

A. Increase resistance to cracking B.  Reduce shrinkage

C. Increase resistance to chemical D.  All of the above
attack

Weslclott GRRaul YollHl Ul Al
A RSl aur B dsluet L walsl
CoRua@ls guatt Wt aul Do GuRlsd i

Lime is considered to be hydraulic lime when it sets under water with in

A. 3to 5 days B.  7to30days

C. 2to3days D. 3 to 6 months
willoll e A2 dcll HIR Yol slBUAS Yol Glotcll 32l AHAHAL &
A 39l 5 Ran B. 7 ofl30 (an
C 2el3Ran D. 3¢l 63l
Which of the following constituents make the brick red?

A. Magnesia B.  Iron oxide

C. Alkalis D. Lime
o(lAstue sl s Uesfe o dlduisld B.

A ol B aslasugs
C. auescl D yal

The disadvantage of plywood is

A. Rough edges B.  High cost

C.  Irregular grains on surface D.  Poor strength to weight ratio
LALRLYS oll WS IR SLAEL

A pRuUsl Yudl B ay Bud

C. astyst 2 D. clogototl YHIQHL HSO{ LS
In steel industry the bricks used for lining furnaces should be

A. Acid refectory B.  Basic refectory

C. Neutral refractory D. Heavy duty

R\ AGEIHRARARAERAMER GuA(8el

A ARSGUHUS B. yaed Guue

C. 2y GUHIUe D &l sydl

The material used as filler with binding material in the production of mortar and
concrete
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S6.

A. R.C.C B. Mortar

C. Cement D.  Aggregate
HlelRua slseGeulestul cite(Sat Al Ysdils

C RA D aoflje
Which one is not a natural aggregate

A.  QGranite B. Basalt

C. Trap D.  Broken Bricks
secl Al 2t

A Jelsse B. Quez

C. 2u D qrdléal

For high strength concrete the best aggregate is

A. Rounded B.  All in aggregate
C. angular D. Irregular

ay Heodsiiseuie s Aoflde

A ollousR B.wuloflde
C weller D ya@a
The smallest size of fine aggregates is

A.  0.06mm B.  0.02mm

C. 0.0lmm D. 0.08mm

Ulell stett A2 MU &

A. 0.06mm B. 0.02mm

C. 0.01mm D. 0.08mm
Which type of fine aggregates are best material for mortar or concrete
A. Pitsand B.  River sand

C. Seasand D. All of above
slaraausl(se s sieet Wafldle s

A le As B. ekl

C. eRagRdl D GURlsd dxun
How many days, a timber may require for natural seasoning.
A. 20 month B. 6 month

C. 12 month D. 24 month
secdl slAswl w2 dect B ax cldl &2

A 20u(Eell B 6 uleu

C. 12u@at D. 24 u3atl
Which wood is used to making handles?

A. Teak B. Babul

C. Chir D. Deodar

ol edAct Usl 52Ul 5] cAlsg ARl SlAUL Kolelcll HIZ cURIA B2
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A oL B. “uyd

C. e D RaerR

Which characteristics is not for good timber

A. Extended medullary rays B.  Heavy in weight

C. Dark in colour D.  Sweet smell and shining fresh cut
surface

BURLALS Sl cttat@sdl «tell

A [Ardd Msyal 2y B. ool @R
C. e R0 D cflesiual clyswcll amnsdl
SV

Which of the following is not an objective of seasoning timber

A. Reduction in shrinkage and B.  Reduction of natural defects in timber
warping

C. Reduction of weight D. Increase in strength and durability

o{lAstHidlBAsgUSsclclall GRalaiell

A dslActAHAR ML HivRLS B, geadlud{lit wels

C. auyetl yalsl D a5l wtal 256U auRl

Seasoning of timber is necessary to
A. Increase the fire resistance Increase the vermin resistance
C. Reduce the microbial substance = D.  Expel the moisture present in timber

clssle [AslAseL 33l B

w

A APRIY[ARUS ALHL R B. oo UlAuUSAHL At
C.wsslaacueld datsal D. slogr@ua clssiuiell sisl staal
Which of the following in timber is not caused by fungus

A. Upsets B.  Blue stain

C. Dryrot D. Wetrot

clsstHL Al vl Fgotell sRQletll adl

A JRWS B. og Rl

C s D. Qele
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